TR’ EEEERREMIRE=42) T - Ay 1 0B GEHIRAE) R
(FR27FE10A8H ~FR27E12H8HE k)

[RF A KER M R (REHRYD)

No.234 EEHREM RETE XFALthAAtiE RERIE R (BT 1ID
No. | *222 | wimrs AEA mEAR | oS # -
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1 1-4 FAEET  |RETRKE() 108288 0.88
2 1-20 mEETm |RETRXE(2) 10A28R 0.70
3 2-3 FAEET |RETRKE(S) 108288 0.83
4 2-4 mHEET  |RETEXE(4) 10A28R 0.82
5 2-19 FAEET |RETRKXE(S) 108288 1.1
6 2-20 mEET |RETEXE(6) 10A28R 0.55
7 3-3 FAEET  |RETRXE(7) 108288 0.95
8 3-20 mEETm |RETEXE(8) 10A28R 0.61
9 4-3 FAEET |RETRKE(9) 108288 0.88
10 | 4-20 mHEET |RETEXE(10) 10A28R 0.59
11 5-3 FAEET |RETRKE(1) 108288 0.93
12 5-4 mHEET |RETRXE(12) 10A28R 1.1
13 5-5 FAEET |RETRKE(13) 108288 0.77
14 5-6 mEET |RETEXE(14) 10A28R 0.68
15 6-6 FAEET |RETRKE(15) 108288 0.65
16 6-7 mHEET |RETEXE(16) 10A28R 1.0
17 6-8 FAEET |RETRKE(7) 108288 0.79
18 6-9 mEET |RETEXE(18) 10A28R 0.69
19 7-10 FAEET |RETRKXE(19) 108288 0.50
20 | 7-11 mHEET |RETEXE(20) 10A28R 1.1
21 7-12 FAEET |RETRKE(21) 108298 1.3
22 | 7-13 mHEET |RETEXE(22) 10A29A 0.53
23 7-14 FAEET |RETRKE(23) 108298 0.53
24 | 7-15 mEET |RETEXE(24) 10A30R 0.61
25 7-16 FAEET |RETRKE(25) 108308 0.41
26 | 7-17 mEET |RETEXE(26) 10A30R 0.55
27 7-20 FAEET |RETRKE(27) 108308 0.57
28 8-9 mEET |RETEXE(28) 10A28R 14
29 8-10 FAEET |RETRKE(29) 108288 1.3
30 | 8-12 mEET |RETEXE(30) 10A29A 0.86
31 8-13 FAEET |RETRKE(31) 108298 1.1
32 | 817 mEET |RETEXE(32) 10A30R 0.58
33 8-18 mAEET |RETXKE(33) 108308 1.2
34 | 8-19 mHEET |RETEXE(34) 10430 0.62
35 8-20 FAET |RETXKE(35) 108308 0.75
36 9-8 BHEET |RETRXE(36) 108288 0.96
37 9-9 FAET |RETRKE(37) 108288 14
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38 9-12 BHEET |FETEXXR(38) 104298 13

39 9-17 BHEET |RETRXE(39) 108308 0.80

40 | 10-12 BHEET |FEETRXIR(40) 10A298 1.4

41 | 10-17 | FEMEET |RETEXXE(41) 108308 0.25

42 | 10-18 BHEET |FETRXR(42) 10A30H 0.36
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